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Three point charges, q1 = -4.10 nC, q2 = 5.11 nC and q3 = 3.46 nC are aligned along the x axis
as shown in the figure below.

Assume that L1 = 0.461 m and L2 = 0.824 m. Calculate the electric field at the position (2.12, 0).
2.32×101 N/C

You are correct.
Your receipt no. is 156-8519 Previous Tries

Calculate the magnitude of the electric field at the position (0, 2.12). 9.03 N/C

You are correct.
Your receipt no. is 156-4362 Previous Tries

Calculate the angle of the electric field with respect to the positive x-axis at this position (0).
1.15e2 deg
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Please try again later. Tries 0/6 Previous

Tries

Post Discussion

◄ Timer Notes Stored Links Evaluate Feedback Print Info 

Send Feedback

LON-CAPA Chapter 23, Problem 52 https://spock.physast.uga.edu/res/brookscole/serway/Physics_f...

1 of 1 9/28/15, 10:26 AM


